

RACE 1	Volt 2140 RANK
Only ranking.	A: 7-3-2
	B: 11-6-5-13-14-1-12-8
	C: 10-15-4-9

Top 4 : **7 - 3 - 2 - 11**

Quinella:	Trifecta:
Horses: 2, 3, 7	1: 2, 3, 7
U-Horses:	2: 2, 3, 6, 7, 11
Total: 3 x 30 = 90	3: 2, 3, 6, 7, 11
	Total: 36 x 2 = 72



RACE 2

V65-1

7 Stensjös Henessi comes from two early gallops and even if there are

question marks around his form, he should still be ranked highest based on his capacity. Good chance if he avoids a mistake. **3 Ares Maanos**

has put in several good races. Still has not won, but we believe he will do it soon. **4 Mezcal Teorvici** has good skills, but is not reliable. In the

mix without a mistake. 12 Ryssebos KungOscar is the strongest in

this field and would benefit from high pace.

Auto **2140**

A: **7-3-4-12**

B: 6-9-11-10-5

RANK

C: **8-2-1**

Top 4 : 7 - 3 - 4 - 12

Quinella:		
Horses: 3, 4, 7, 12		
U-Horses:		
Total: 6 x 20 = 120		

Trifecta: 1: 3, 4, 7, 12 2: 3, 4, 6, 7, 12 3: 3, 4, 6, 7, 12 **Total: 48 x 2 = 96**

RACE 3

V65-2

4 Bea Palema has done well so far in her four starts. Deserves a win

and could take the first victory here from a nice starting position. **3 Holy Zoly** finished in fine style last time for a third spot. Is devel-

oping well and could be in the mix here. **8 October Skies** should reach a nice position as he is a quick starter behind the gate. One of several

contenders who can win this race. 9 Lizzy Hale gets a defensive trip

and should mainly be seen as a place bet.

Auto **2140**

A: **4**

RANK

B: 3-8-9-12-11-10-5-2-7

C: **1-6**

Top 4 : 4 - 3 - 8 - 9

Quinella: Horses: 3, 8, 9 U-Horses: 4 **Total: 3 x 40 = 120** **Trifecta:** 1: 4 2: 3, 8, 9, 11, 12 3: 3, 8, 9, 11, 12 **Total: 20 x 2 = 40**





RACE 4

V65-3

Auto **2140**

1 Young followed well last time after a strong journey. Finds it hard to reach the front, but should be able to get a nice journey together with Jepson. Our pick. **2 Stensjös Pierh** comes back after a short break. The form is hard to predict, but normally he is good enough for this type of race. **4 Maze Craze Ass** followed well last time. Won five starts ago and needs a new victory here. Early contender. **6 Don't Thell Me** is undefeated in the lead and should be considered early as well.

RANK
A: 1
B: 2-4-6-7-8-10-9-3-5
C: 12-11

Top 4 : **1 - 2 - 4 - 6**

Quinella:	Trifecta:	
Horses: 2, 4, 6	1:1	
U-Horses: 1	2: 2, 4, 6, 7, 8	
Total: 3 x 40 = 120	3: 2, 4, 6, 7, 8	
	Total: 20 x 2 = 40	

RACE 5	V65-4	Auto 2140	RANK	
2 Latin Lover Helvin ha	s a nice starting position	and is driven for the	A: 2-3-9	
first time by Magnus A D	juse, which is interesting.	Has the best chance		
to win in a wide open ra	ce. 3 Holliday Sisu put i	n a strong finish last	B: 11-5-6-7-12-8-1	
time. Does not win very	often, but should not b	e overlooked from a		
nice draw. 9 Milles Tobi	n won with this driver se	cond last. Prefers to	C: 10-4	
run in the lead, but can g	et a nice journey from he	re. 11 Waco Sixx has		
two runs under his belt	and is starting to approa	ch top form.		

Top 4 : 2 - 3 - 9 - 11

Quinella: Horses: 3, 9 U-Horses: 2 **Total: 2 x 50 = 100** **Trifecta:** 1: 2, 3, 9 2: 2, 3, 9, 11 3: 2, 3, 9, 11 **Total: 18 x 2 = 36**





RACE 6

V65-5

Auto **2140**

8 Earnest won easily last time in his mini comeback. Difficult draw, but is the best horse in this field. Good chance to take the second straight win. **2 Attention Please** has four out of eight wins from the lead and should the mare reach that position again, she could lead this throughout. **1 Woodbank** is not bad, but has galloped a lot. Is well drawn and hould not be overlooked when avoiding a mistake. **9 Twins Zeus** would benefit of quick pace in the lead.

RANK
A: 8
B: 2-1-9-11-7-12-6-3-4-10-5
С:

Top 4 : 8 - 2 - 1 - 9

Quinella: Horses: 1, 2, 9 U-Horses: 8 **Total: 3 x 50 = 150** **Trifecta:** 1: 8 2: 1, 2, 9, 11 3: 1, 2, 3, 4, 5, 6, 7, 9, 10, 11, 12 **Total: 40 x 2 = 80**

RACE 7

V65-6

2 Jameson K.W. has been competing against tough horses lately and

is now stepping down in class. Nice number and from the lead he will not be easy to beat. **7 Honey Dun Girl** is undefeated together with

Julian Cordeau after one start together. Quick starter and could cause a surprise again. **10 Mister Vredebest** won an easy race last time, but

the impression was really nice. In the mix again. 11 Vision Of Gideon

will be improved with the last run under his belt.

Auto **2140**

A: **2**

RANK

B: 7-10-11-3-9-5-1-4-8-6-12

C:

Top 4 : 2 - 7 - 10 - 11

Quinella: Horses: 2, 7 U-Horses: **Total: 1 x 100 = 100** **Trifecta:** 1: 2 2: 3, 7, 9, 10, 11 3: 3, 7, 9, 10, 11 **Total: 20 x 2 = 40**



RACE 8	V3-3	Volt 2140	RANK
Only ranking.			A: 5
			B: 4-10-9-2-8-7-1
			C: 6-3

Top 4 : **5 - 4 - 10 - 9**

Quinella:	Trifecta:	
Horses: 4, 9, 10	1:5	
U-Horses: 5	2: 2, 4, 8, 9, 10	
Total: 3 x 30 = 90	3: 2, 4, 8, 9, 10	
	Total: 20 x 2 = 40	